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7''>2 appoints for them an 212172R and they choose for them, etc.

OVERVIEW

XMW MR 1" taught us that 7"2 appoints an 019X for the 2°mn° and they
choose for them a 139> Pon. It is not clear whether 72 chooses one 9191715R for all
the 0°mn° (as the expression DIDIVIOXR 1712 P7°MYA [in the singular] indicates), or one
019170WaK for each M (as the phrase 79° pon 379 771127 indicates'). It is also not
clear who are the P32 (is it 7"2 or the 01917V®X) and how are they 7712 a 119> Pon
for each o01n°. This and many other issues will be clarified in this n1901N.

— %157 152 MY TP98T 157 %2 DAY D3INAT INIIN 13539 19) B 19529 N
The n"= and n'"=9 say that the words am® @912y refers to the 732, that an

assessment by 7''92 is required in order to divide the estate. Mo explains what is the
role of the D1917WBR (since 72 does the assessment) —
— 18y 2393 9990 AN 999 NMMYY 115 PN DINIVION)

And we appoint the 21217115R for the 0210, to protect the assets of each on°
individually -

— 1153 Y9N IV NN NNY 1YY
For up till now he protected the entire estate as one.

moon explains what is meant by [719° p%r] 077 PAM2:
— Y9 22079 XNV PNT 999 27 Iy P92

And *1"2 chooses by a lottery, since it is not burdensome to cast lots -

Mmoo responds to an anticipated difficulty:5
— DO PUN 9920 TV Y913 199N

And even by a lottery it is possible to choose a good portion -
— HNNX NA2IPYN NP2 HNN NTY THNI TANR Y3 DIVIY 2IVT MTY WOV VI ON 1D

" The phrase 719° P71 372 192 seems to indicate that each D191VdR makes an effort to receive the best pon for his
1. See 177 P21 3" 0WDMWBR "7 "W,
2 '7"3 (and not the D1DWIDX) must evaluate all the assets of the estate (how much each of them is worth) and then
divide it evenly among the o »n".
? mooin is addressing a seeming difficulty. Why does the X3 say D191I09K 072 Puwn 7"°2 N21 PIone Waw amn,
seemingly 7"2 appointed for them an D191701BR as soon as they became 0N° to manage their affairs?! nwon
explains that the 0191715 has a new ‘job description’; he must now protect the individual assets of each on°.
* See 1"mn and 7"»X footnote # 7
> We are dividing the estate by a lottery; how is it possible that we choose for each @n° a 719° Pon?!
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For instance if there are three fields (and three 2mn), it is preferable that each

01n° receive one field and his share will be together in one place -
— ©PYN Y DTV Y3 ¥NIY Nnn

Rather that they should divide each field into three portions.°®
— 791 Sty 'mvna 13 W 1119993 93993y 11999

And there are many possibilities for ‘choosing’; including windows, ladders,
and a pathway."

mooIn qualifies this division:
— 19990 NN IN 1) 12 POV PRY 92793 XD

And we divide only something to which the rule of 73°% % 713 does not apply"” -

mooIn proves this last ruling:
— NININ 90 92 TV 9292 99%9N 1PPDIN INT DN 1229 PR

And the n'"'1 infers this ruling as follows; for if you will say that we divide even

those things for which 7°K R 71 is applicable, then -
— NI TINNY 1919 2(a,3n 91 purpp) YTDM WIRD Y92 PINT ININ

Why does the X713 in the beginning of w7pn weRa P75 awkwardly answer that

they can protest regarding which direction their assets are facing, when the X723 -
—TIONIN TN TINKY PP9IFPT 99Y 1Y Mn

% The meaning of 715° o oA @™ is that 7"2 tries to see that all of them receive a 719 P (but not that we try for
each one individually that he should receive a 719> P71 [better than his brothers]).
7 Each child should receive equal amount of lighting in their respective houses, or the division should not cause the
(partial) blocking of window rights.
¥ Some properties require ladders to be accessible (which decreases the value of the property); alternately no one
should prevent the initial right to place ladders in order to gain access.
? The pathways for access should be taken onto consideration, and to insure that all owners have proper easement.
19 3" is required to make a very careful accounting of the entire inventory of the estate and the various rights, to
insure that all the parcels, which will eventually be apportioned, are equal.
393K 1% 73 literally means, ‘you pull or I will pull’. Let us assume that there is one item in the estate that all need
(a chair for instance), where we cannot actually divide the chair; one party may say to another party you have the
option of (pulling away, i.e.) buying this chair from me for a hundred dollars (for instance) and if you do not want to
buy it, then I will pull it away from you by paying you a hundred dollars. The one saying X"X3 must give the other
party the option to do as he pleases, either to buy or to sell. The offering price to buy or to sell must be the same.
"2 mpoin rules that on these objects where T X % T applies, we do not divide them through X"xx (trading off one
asset for another or for money), but rather we leave them as is and let the parties settle it [through X"&3] when they
reach maturity. The reason is because we do not know what each one really desires or is willing to give up.
13 The xm3 there (on X,21) asks a contradiction on 1" from another ruling that mnn? 1°912°, and answers that 1" ruled
mnn? P712° PR only when 7"2 did not err in their assessment. The division was done properly. The & n3 asked if
there was no error, why (according to YX1mw) would they want to protest. The X773 answers N7 Minn 1912°. This
means that if one received a property on the north side of the estate, he can protest that he prefers the property on the
south side, for he has other properties (not from this estate) there. N1901n maintains that this answer is a pr7.
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Should have said they can protest regarding 713’8 8 7!

mMooIN anticipates a possible refutation to this proof:
- 151:”‘,7 199199 MNYN HND 1YV ONX MNNY 199199 9INP NYT NI

And why is it that the X3 did not answer that nim»® 199127 in a case where 72
made a mistake of less than one-sixth of the value, in which case their sale is

valid; this seems to be a very usual case'® -

mMdON rejects this refutation:'”
— MNWYN MNDT MYV D2V MNNKY 19129 171N ON ININY 9NV 93001 XYT DIVN

Because it is not logical that >X»w should maintain that when the o>

mature they can protest such a minor error of less than a sixth -
— 555 190 K97 INNDD M1 17T %2 NI T2 MDY W HNMY NN

For in that case »Xmw admits that we should empower the 7''2 12, because
such a minor mistake is considered as if the 7"2 did not err at all —

mMdoIN responds to a possible refutation of the previous assumption:'®
— Pxmva »on m PNRT 27 12 N MDY PR N2 MHNIL MINNY PNV 2) DY 9N

Even though the 20> can be nym92 7mn, nevertheless we cannot compare it to
mnwn nnd, for in this case of MM there is no reason to empower the 7''>2 12

' Let us assume that there was only one chair and only one table in the estate, of equal value. If we maintain that we
divide even items of 713X 1% 71 (as this chair and table), 7"°2 will draw lots and award one the chair and the other the
table. The one who received the chair can protest that he prefers the table over the chair. This seems (to n1901n) a
much more common issue than MmMA. The fact that the X723 did not mention it, proves that these X"X3 items are not
included in the division, but rather 7"°2 leaves it up to the o’mn> to divide it eventually through the X"X3 process
when they mature.
!> There is a mwn (cited in X,2n Pw17°P) that if 7"°2 made a mistake in their assessment by one sixth (the property was
worth six 0°¥?0 and 7"2 sold it for five) the sale is invalid (according to the 231 to which 1"9 agrees to). If the
mistake was for less than a sixth (it was worth ten and it was sold for nine), the sale is valid.
'® The fact that the X3 did not bring this more common case, indicates that the X7 was not particular in which
case it used to demonstrate the xnn. Therefore there is no proof from the fact that the &7n3 did not use the case of
X"¥3, that we do not divide items of X"X3, for the X713 does not necessarily mention all the cases even the more
common ones.
71t may indeed be that a mistake of mnwn Mo is common, but the X723 could not mention it, because for such a
minor mistake they cannot protest.
'8 nooin asserted that by a minor error of mnw» M there can be no AxmA. Seemingly the complaint of MMA is more
trivial than mnwn» N5 and yet the X773 claims that they can be nmn2a amn
' When 7"32 errs in its assessment (by less than a mnw), then in order to uphold the dignity of the 72, we will not
allow the 0°mn” to overrule the assessment which 7"°2 made (since it is an insignificant amount); however when the
person is dissatisfied in which direction his property is located, we will not diminish the dignity of the 7"°3, by
upholding his request for change, since 7"°2 did not rule where his property will be located; it was (merely) ordained
by (the chance of) the 5.
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and not permit them to protest, for this (the allocation of where the field will be) is
not dependent on the assessment of 7''53; rather it was done by lottery —

The distinction between mnwn N and N1 will -
— 25 st 2ANIND 9NN 0D 19917 Y9 DNT 19V 9

Certainly be properly understood if we interpret that the ruling of a»p 952 by
mnwn» nInd means that the amount that he was deceived is to be returned.

Moo concludes:
— 21053 1179939 N1INT MNTY Y3 17599

However this proof can be rejected, for the X723 mentions only one of many
possibilities where they can protest.

modoIN anticipates another proof that we do not divide items of X"Xx (and rejects it):
-19Y902 19ONIY DYT2YN DT NIPN DIVIYY YNRVUNT (3,10 97 NINIIN PIDT HINYT NINHNDY

And from that X713 in 73258 P95 N2 noon, where it seems that we make the

mapn of 1" in order that all the slaves should eat 23mavan -
— 11239 92395 DM THR PYNY DITa¥N Y9 0329 PINY

Where we give all the slaves to the (born) sons, and we give the fetus one share

(of other assets), corresponding to the value of the share which each brother received in

the slaves -
— zsnw.wn 1999 TN IN 1) 12 TPVY 9272 1999N PPHINT NNY PN

We cannot prove that we divide even items where 73R WX 713 applies, like

slaves for instance. The reason there is no proof from that X3 is that -
— ®npyana 099N B51aY N1NA 793 129N PN NSYINT BNN SINYT

2 When 7" errs by a mnw (or more) the entire sale is void; a new assessment and sale needs to be made. If the error
was less than a mnw, then the sale is valid. There is a dispute whether the sale is valid as is, and the one who was
deceived (for a mnwn o) must swallow his loss, or even though the sale is valid, nevertheless the difference
between the assessed value and the true value must be returned to the rightful party.
! In the case of mnwn mino the aggrieved party loses nothing, for the difference is returned to him, therefore he
cannot protest; however by N~ the aggrieved party experiences a real loss when his property is not in the proper
location, therefore we accept his protest.
2 We cannot proof conclusively that there is no division of items where X"Xx is applicable, from the fact that the
X3 did not say that they can protest regarding items of X"X3 (instead of saying they can protest regarding nim), for
the X773 happened to mention [only] one of the many possibilities where they can protest.
3 See previous P 1"7 Moo (TIE footnote # 7 and onwards for a more lengthy explanation).
* Tt would seem from that X1»3 that we do divide (even) items where X"Xx applies, such as the 0*7ay in return for
something else.
» We are giving all the 2>72v to the sons and something else for the 92w in return; this is the classic case of X"Xa.
% See i 1" (TIE footnote # 12).
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There it is different, for the value of the s'22w share increases by allowing the

slaves to eat 77190
— a1 1195 PN 793 9295 YN

So that the =2y will receive a more valuable share.

mooin offers a different explanation to the solution mentioned regarding the a°72y:
— Pyt 03N PONY NIN NIPN MWVYY 1IN DI71a¥N YD XY N

And furthermore we are not enforcing this 77pn for all the slaves, but only for
the portion that belongs to the born children.

mMooIN continues that it is possible that all the slaves are given to the sons:
—D72YN 1235 929D 1ND PPV MTY WY [(®nrn] 1w

And in addition we may give all the slaves to the born sons and none to the 72w
in a case where there are fields in the estate (besides the 0°72v), in which case it
is permissible to give fields to the 921 corresponding to the (single share) value
of the 2572y -

— (%23 9710p5) PPN 13990RT9 )9 MWy 197 N%aY N WY
For 7''52 has the power to do so as the X012 states in 15117 p19.31

mooINn presents a related issue:
— 993N NYTA XYY PITNY XN 9MY)

And a partner who wishes to divide the assets of the partnership, without the

knowledge of his partner; one partner wants to remove all his assets from the partnership
and leave his friend with his share of the partnership -

*" The proposed limitation of dividing X"X3 items is limited to cases where the one who is presented with the X"X3
option will not gain from such a division; here however the 721 stands to gain by accepting the X"Xa division,
therefore we do divide the X"X3 assets.
* Let us assume that there were two born children and one 921. There were also three slaves in the estate. N0
maintains now that we give two 0°72¥ to the sons (their share) and these 0’72y may eat 71170, and one 72V is given to
the 72w (his share) who may not eat 717n. Therefore it is not a case of X"X3, since we are dividing the slaves. [See
(however) 2%7w° n°3, who finds this explanation puzzling.]
% This can be read either as *» *17 or (as the n'"m1 states) *7"n Ro7.
% The 0w1v1X (and certainly 7"2) may sell the slaves of the @m0 in order to buy fields with the proceeds (but not
the reverse), since fields are more valuable (and stable) than o°72v. It is therefore understood that 72 can sell the
$'"121v share of the 072y to the brothers and receive fields as payment.
' In summation: according to the first explanation of Mmoo we give all the 272y to the brothers and the 12w
receives 17071 (or money) in return; even though it is X"X3, nevertheless it is for the benefit of the 12w. According
to the second explanation (the first 71¥1) we split up the 0>72y between the brothers and the 7121w (where the 72y of the
721w cannot eat 77N). According to the last explanation (the second Tw1) we give all the 0°7ay to the brothers
provided there are fields with which to compensate the 721W; otherwise we split the 272y (as in the second
explanation).
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— NI NP NIPYY MYPIPN PITNY 9199 DX PNYY 139299 XPODN
It is doubtful to the >''2 whether he can divide the properties (17°2r ny7a X5W),
since being particular as to the location® is relevant.”

mooIN anticipates a possible resolution to this dilemma, but rejects it:
— (297 1 NINA N2 TN 1% 7992 9INT NN PIPTY PN

And we cannot infer from that which the X7») states in =12 n%2 p=p -
— DIPIYNM NYOAT 93 591 NHDY 177199353 S9N YN 9P SNN NNYN %2 93D NNYNI NYN

But now (according to 27) these three brothers that exist and two of them went
and divided the estate into three parcels, would you also assume that their

division is nullified?! This concludes the citation from the &713; continues Moo -
_ 1% $PAPAY DINAY 399 ¥PYPAT 23 Y N Snmnssm ADITNNY $nunt

So it appears (from the tone of the question) that the division remains, even
though we are discussing land, for the assumption is that an equitable division
of land is substantiated. This would seemingly resolve the doubt of the **" —

mooIn rejects this solution:
— 19NN 15 Y9IY LY YN MR TN 15 993 Y 1991 91nwa 13990 T xaN

We can say that the 771717 is n»>°p, only in a case where when they went back

32 Assuming the partnership consisted of two fields of equal value, the one partner cannot choose a field by himself
(even with a 77) and leave the other field for the absentee partner, for perhaps the absentee partner prefers the other
field because of its location and proximity to other properties he owns. See ‘“Thinking it over’.
3 mpon cited previously the X% in PeATp that mmn2 M P91,
* The xm3 there cites a npYonn between YR 27 in a case where two brothers divided the estate, and later a third
brother appeared (whom they did not know previously that he existed). 27 rules the entire division is nullified ( 7702
mp>nn), and they have to divide again anew amongst the three brothers. ?X%Ww maintains (7°¥np»), that each brother
gives a third of his property (a sixth of the original estate) to the new brother (so each one receives two sixths or one
third of the entire estate).
3 ny90n now understands the rhetorical question, 'npY?nn 77027 "1 °o7', to mean that the third (absentee) brother
must accept the remaining parcel (since all three parcel were equal and a 713 was made). He cannot be nymna amn.
% In a case of two partners where one made an equitable division, the second cannot be mmn2 i (if it is done by
lottery); for otherwise why is the np 71 valid here by the three brothers, if the absentee brother can be nyma2a anA.
7 We can assume that the absentee partner can be 112 7 and similarly here the absentee brother can demand a
new 97 since he too can be mmn2 7mn, and when the X3 ruled an >0 N»>>p that is in a limited manner as MooN
continues to explain.
¥ Let us assume there were three brothers and many fields. The two brothers divided all the fields into three equal
parcels and drew lots for their shares. Brother A received parcel A and brother B received parcel B. When brother C
arrives, he can cast a lot for all three parcels, if he is allotted parcel C (the original parcel allotted to him by the first
lottery), then brothers A and B receive parcels A and B respectively without any requirement for a new lottery as to
who will receive parcels A and B. This is the meaning of anp1?n nn»p. If however brother C did not receive parcel C
in his lot (but either A or B), then brothers A and B must cast new lots to determine who receives the remaining two
parcels. In any case brother C can certainly demand a new 571 (for himself) since he can be mmna amn.
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and divided it with the third brother; he received the same parcel that was

allotted to him originally -
— ONPIYN NP INT PTYYA DIYN IPINYI

When the two brothers divided without the third brother, it is only then that
their division remains -

1ANNA HPYNY OINA IYIN DNNIY BY 999 5509 AN DIPN Yan Yax
However the third brother casts a lottery with both brothers (for his share) as if
they are initially dividing (without any prior division).

SUMMARY

It 1s 72 who assesses the value of the estate, if the minor children wish to divide
it. The division is done by lottery but it does not include single use items which are
divided by 73X X T3 (when the 2°mn° reach maturity). N19010 questions whether
mmA2 Axnn is applicable where one partner wishes to remove his assets from the
partnership without the participation of the remaining partner.

THINKING IT OVER

mooIn questions whether NYM72 AXAM is applicable where one partner wishes to
remove his assets from the partnership without the participation of the remaining
partner.” Seemingly if the division was done properly (7"*2 nmw 5"y or similarly)
and he is taking his half of the property through a 97, what right does the other
partner have to complain? If he were here he would also be forced to accept this
5ma?*

¥ See footnote # 32.
0 See "7y in 7"PR # 111.
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